COP 2210
     Assignment 3: Selection Structures   
       Summer 2017
Pestaina

Due:
Sunday, July 02
Objectives
To be able to apply the basic selection structures.
Overview
Write a class, CalendarDate, to represent a date on the Gregorian calendar (1592 and later). You must first complete classes to represent Gregorian calendar days, months and years. An outline of each of these classes is provided. You must also complete a client program to test your implementation.
Specific Requirements 
1. In CalendarDay, complete the constructor to validate its parameter and initialize the instance variable. Implement the necessary accessor.
2. In CalendarMonth, complete the constructor to validate its parameter and initialize the instance variable. Implement the necessary accessor, and methods to return the name of this month, and number of days of this month, both using switch statements.
3. In CalendarYear, complete the constructor to validate its parameter and initialize the instance variable. Implement the necessary accessor, and methods to test if this year is a leap year, and to return the number of days in this year.

4. In CalendarDate, complete the constructor and implement the necessary accessors. Complete the toString() method to return a date image in the format indicated by the format state variable. Complete the other methods as described in their comments. Hint: the ordinal() method should sum the days of the preceding months.
5. The client program is incomplete. When run, it prompts the user to enter today’s date and some “special” date (birthday?). It should then display the appropriate message,  based on the anniversary date of the “special” date and today’s date, chosen from
"Happy Anniversary!"      "Will you have a party?"       "Sorry, I missed your day!"
Modify the client

a) In main(): To calculate the correct anniversary date

b) In anniversaryMessage(): use compareTo() to return the appropriate message.
c) In anniversaryMessage(): use ordinal() to append to the message, if appropriate, one of the following: “xx days from today”
“xx days ago”.
6. The Java API Calendar, Date and other related classes are not available for this assignment. All methods must be implemented using your own logic and code.

Algorithm Notes

1. On the Gregorian calendar, a non-century year is a leap year if its year number is divisible by 4; a century year is a leap year only if its year number is divisible by 400.

2. The anniversary date of any given date is the date with the same day and month numbers as the given date, but the same year number as this year. The exception is Februrary 29 of a leap year; its anniversary date in a non-leap year is March 1.
Submitting your Assignment

You must zip and upload your source (.java) files in SCIS Moodle by the due date.
Moodle will not allow late submissions.
